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Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

PART—A / Reis—3

Q. No. 1({a—f) carries 1 mark each : 1x6= 6
Q. Nos. 2-7 carry 2 marks each : 2x6 =12
Q. Nos. 8-12 carry 4 marks each i 4x5 = 20
Q. Nos. 13 & 14 carry 6 marks each  : 6x2 =12
Total = 50
PART—B / [@i9—x

Q. No. 15( a—f ) carries I mark each : I'<6i=} 6
Q. Nos. 16-21 carry 2 marks each : 2x6 = 12
Q. Nos. 22-26 carry 4 marks each : 4x5 =20
Q. Nos. 27 & 28 carry 6 marks each : 622 =12
Total = 50

Total (PART—A & PART—B) 50+50=100
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(2) (3)

PART—A (f) What do you understand by price ceiling? 1

Ret—= AR % NI JEce P @R 2

( Introductory Microeconomics )

2. What is opportunity cost? Explain with an example.

1. Answer the following : 1+1=2
Resa erresfem Te W : et 8 2 gofp THrRAPR W 3 |
(a) State the law of supply 1 3. Write the law of variable proportion. 2
@n-aq [ & @9 | “ffdaaie sEeire R @9 |
(b) What is break-even point? 1 4. State the law of demand and draw a demand curve.
1+1=2
bk it R T @ < SR G e <
(c) What is the shape of a perfectly inelastic demand _ :
curve? 1 5. Prove that for a firm, price = average revenue. 2
ol wiEfoRR B R SR S 2 29 9 @ (I G ARSI Tl 7 = 7T S |
(d) What does a point below the production possibility 6. Write the conditions of firm’s equilibrium. 5
curve indicate? 1
2SR SRPTOR % (o1 |
T T ([FAF Neb Safere gl 7y F e F 2
7. How does imposition of per unit tax affect supply curve of
(e) What is market economy? 1 a firm? 9
TER =S 7 S 9 SC1eH P 2 O AR QI @I Fow oIS 0 2
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8.

10.

11.

( 4)

Discuss the characteristics of perfect competitive
market. 4

o eifecafsromere sy aFEief s 9 |

With the help of demand and supply curve, explain how
market equilibrium is attained. 4

BIfEW 9RO (@R AR AR SEPl SZde 2AfeF 99 |

Explain the law of diminishing marginal utility. <

TP AR Seicaferer [iEb e 591
Or / 91

What is price elasticity of demand? Discuss any one
method of calculating price elasticity of demand. 1+3=4

viftn v RfSwerel Ft2 vftnm w Bz oo 98 @ @Il
GFfo Talo SCEAL F9 |

Define production function. The production function of a
firm is given as Q = 5VLK , where Q is output, L is labour
employed and K is capital employed. Determine the level of
Q, when L =16 and K = 36. 1+3=4

TR FECAd SR (31 | q6 AfvIeE TeAMA T Q = 54LK,
@A Q = efitEd AfiwWe, L = Fenfee Wi AW @ K =@
fcfers e R | L =16 @33 K = 36 2ga Q-7 *Iffie fefy 3531 |
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12.

13.

(S)

Or / 9«1
Discuss the determinants of supply. 4

Q-G T RPTR HICEGAT < |

Write the differences between monopoly market and
monopolistic competitive market. 4

CofbH1 e @R GFAET efScafien ATH-9R PR =1 |

Explain how a consumer attains equilibrium while
consuming two commodities. 6

7 T ToCSe (FE G Solterel RO O wen 3, e
9 |

Or / 9={r

What is an indifference curve? Draw an indifference curve
and discuss its properties. 1+1+4=6

eers @ 2 @I Wers @ 9% 99 93 339 CIMIBPTR SIICeoT
39 1

14. Define average fixed cost (AFC), average variable cost
(AVC) and average cost (AC). Draw the AFC, AVC and AC
curves indicating their interrelation. 3+3=6
% &% I (AFC), % ARIETET I/ (AVC) @R 5% T (AC)-3
W@ (¥} | AFC, AVC @R AC-T R~ o afowhe zeq
EIsfe oE 9 |
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(6) | (7)

Or / 31 (c) Write the direct method of calculating arithmetic mean
in case of discrete variable. 1

Calculate TFC, TVC, AVC, AFC, AC and MC schedule from
fafvze Be1Ca CFC@ ST W& SI191E 2P &S (&Y |

the following table : 6
T wife @l (F TFC, TVC, AVC, AFC, AC €3k MC Spibl sl (d) Write the full form of NSSO. ;
NSSO-4g 34 6 (=14 |
Amount of Production (Q) | O 1 2 3 4 5 6
Teqrag Afare . (e) Who is known as the father of statistics? 1
Total Cost (TC) 40 [100|120|130|150|190(250 ARO[ -9 oz FicE sm 91 2
G 7
(f) Write one  difference between = diagrammatic
presentation and graphical presentation of data. 1
Rl =t e Ba oo @3k @A SerzeieE @5l =i @9 |

er—y

16. Calculate range and range coefficient from the following

( Statistics for Economics )
data : 1+1=2

BT ©Y (AT 2E IR PR BT SN ]
15. Answer the following :

ANeva 2afer Tex we ¢

12:005,0 1181215124, 127

17. Write two differences between discrete variable and
continuous variable. 2

fifoze vore @3z IfAfvRA Dol T b N2y (oY |

(a) Who forwarded the welfare definition of economics? 1
Seff{earcas Fenid-«a3 @ (& feafReE 2

18. What do you understand by relative measures of
(b) Write one limitation of statistics. 1 dispersion? 2

oifoRYe REE-99 93t Hme! @19 | Reweem Seeifes 17 00 I @R 2

/128A /128A [ Contd.



19.

20.

21.

22.

23.

(8)
Write two differences between histogram and bar
diagram.

RevlEN 933 W forag qib #1efw @19 |

Write two limitations of ‘direct personal investigation’
method of data collection.

O AR ‘UOTT AE9NS TP Taieq 16 Al @1 |

Write two features of statistics.

offfoare Reem-aq it tafEs ¢ |

Briefly write about the methods of classification of data.

S CINAESACR Ao R SReweel @1 |
Or / {1

Write the objectives of tabulation of data.

S SRR SRR (T4 |

The marks obtained by 9 students of a class are given
below. Calculate mean deviation :

GF AR 9 T TCAA Y THEA SR N S 2CCE | S R5E
ey 99 .

22, 65, 40, 50, 38, 20,70, 25; 75
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4

24.

25.

(9)
Or / 991
Write a note on Lorenz curve. 4

34 I¢-99 v @it B &9 |

Calculate Karl Pearson’s correlation coefficient from the
following data : 4

NET B (A Tl PRIREIR TDTgT Q9T 511 9 ¢

SR 8 | 12 ] 15 |18 | 20 | 24138 |&3i

1O L2 1 AS: (LS| A SHE2 5K Y IDEN S D61 | F28

Or / G=[1

What is rank correlation? Briefly outline its demerits.

1+3=4
GRS T [ 2 22 SPIRYPTRR KR @19 |
Calculate mode from the following frequency
distribution : 4

Tod IRAES! FoTE (AF IZ9F S99 9 -

X| 0-10 {10-20|20-30|30-40|40-50|50-60|60-70 | 70-80

4 12 18 25 16 9 7 3
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26.

27.

28.

( 10 )

Or / 941

What is median? Discuss its merits.

T 2 TR FARUPTR S A |

Write the characteristics of an ideal average.

5 s sieed CAPIBPTTR (@Y |

Write short notes on :

fEpe DIl (o1

(a) Wholesale price index
oA TR PP

(b) Consumer price index

TSR W TPIRT

Or / <1

1+3=4

3+3=6

Discuss the use of index number in the study of

economics.

wieffeEce SR 5 A TR SCEn] 9 |

Discuss the characteristics of a good questionnaire.

43 S 2HFAR CAMEBPTR SICebal 99 |
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(11 )

Or / S47

Draw a histogram and a frequency polygon from the

following data : 4+2=6
FNevg Oy (AT G RO 3R Gf6 IR LGS H A
Marks Obtained |10-20|20-30|30-40 |40-50 | 50-60 |60-70
A1 39
No. of Students ) 112) 15 29, 19 4
RICES T3
* ok K
/128A 59C



